Wall Mount Computer Station

WMCS

Revised: 03.15.2019

How can we improve our assembly instructions?
Your comments and suggestions are important to us.
Please e-mail us at: support@versatables.com.

.com
14105 Avalon Blvd.
Los Angeles, CA 90061

Lifetime Warranty

fem o AN S / f.1_" Local: 310-353-7100
b) nt ) . =gl Toll Free: 888-929-0322
Ompiie® . Fax: 310-353-7109
Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com



0o A [ -y l
CAl G R Cll L2 L | o L

L

' LCD Holder 4mm & 8mm
Allen Wrench
.
T*_«_\____f_
T
Qty:1 Qty:1
Keyboard Platform ' Keyboard Bracket
Qty:1 Qty:1

20mm Furniture Bolt 3/8 - 16 x 1" Socket
Head Bolt

Qty:1

1" 7/8 Velcro Pads
1 Velcro Loops
1Velcro Hooks

Qty:2 |

Wall Mount Computer Statio

| 50mm Furniture Bolt 8mm Phillips Machine 1/4 - 20. Phillips Head

—l

Upright Pole

Screw Bolt

Qty:4 Qty:4 Qty:4
Zip Tie & Curly Tie

Qty:1 " Qty:5

| CPU holder

Upright Pole Bracket Toggler

Qty:2 Qty:4

Clamp Bushing

| CPU Holder Mount

Bracket

|

Additional Tools Required
Qty:1| Drill & 1/2” Drill Bit Phillips Screw Driver

s ¥ &g
1
ST / |
=

VersaTables.com
¥ 14105 Avalon Bivd.
Los Angeles, CA 90061

Lifetime Warranty

Quantity Discounts

(@ Local: 310-353-7100
=N Toll Free: 888-929-0322
Fax: 310-353-7109
Assembled in USA Fast Shipping Support@VersaTables.com



nh 1 v S
IARMIY %
a® |

P 9 9

Step

Toggler

7
Qty:4

Drill &1/2” Bit
x l;'ulii‘.

e &

Step

50mm Furniture
Bolts

—

Qty:4

Wall Mount Combutef.Static;n
Install Togglers

A: Drill a 1/2” hole. Slide Metal Anchor of Toggler through

hole. Minimum clearance behind wall is 1-7/8”. i\l RS
L
B: Pull end of Toggler until Metal Anchor is flush against
inside of wall. Push Plastic Collar into wall to lock in place. /
C: Snap exposed material off, flush with Plastic Collar. Matal ARehor /

NOTE: Extra Toggle Bolts are provided

A B C

§ _F3:
= |
=

[

Upright Pole Brackets

Attach Upright Pole Brackets to the wall using (4) four 50mm Furniture Bolts.

i : 50 mm Furniture Bolt

.Y 14105 Avalon Blvd.

o

L

v Los Angeles, CA 90061

- com e\ J , S a0 Local: 310-353-7100
>-00 RRaNTY Discounts. =00 Toll Free: 888-929-0322
' Fax 310-353-7109

Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com



Wall Mount Com'puter'Statio-n

Step Upright Pole

Secure Bottom Pole Holder using (2) 3/8 - 16 x 1” Socket Head Bolts.

3/8-16x 1"
Socket Head Bolt

*

Qty:2
3/8 -16 x 1" Socket
. ‘ / Head Bolt
Step LCD Monitor
» Attach LCD Monitor using (4) 8mm Phillips Machine Screws.
8mm Phillips

Machine Screw

Qty:4
8mm Phillips
Machine Screw
com e | Local: 310-353-7100
' NTY D) n s =N Toll Free: 888-929-0322
14105 Avalon Blvd. 2y yy - Fax: 310-353-7109

Los Angeles, CA 90061
Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com



\ I._.._.

&

Wall Mount omputer Station

Step LCD Bracket

Slide LCD Bracket.

Tighten
T-Know

Step Upright Pole

Secure Top Pole Holder using (2) 3/8 - 16 x 1” Socket Head Bolts.

3/8-16x 1"
Socket Head Bolt

o

| \l

~ /| A\ Local: 310-353-7100
.co : Discoun K : ~_[  Toll Free: 888-929-0322

.Y 14105 Avalon Blvd. ok v/ ey . ooy
' Los Angeles, CA 90061 : Fax: 310-353-7109

3/8 -16 x 1" Socket

‘ / Head Bolt
—

Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com



Assembly Step-byStep

| Wall Mount Computer Station
Step (74 Keyboard Bracket

il Attach Keyboard Bracket to Pole at the desired height/side using (1) Clamp Bracket
Socket Head Bolt  @Nd (2) 3/8-16 x 1” Socket Head Bolts.

3/8 -16 x 1" Socket
Head Bolt

T-knob

Step ( Keyboard Platform

B—— Attach the Keyboard Platform to Keyboard Bracket using (4) 1/4-20 Phillips Head Bolts.

Head Bolt

- Qty:4

1/4 - 20 Phillips
Head Bolt

N Support:
( / 1\\1 Local: 310-353-7100
=0 Toll Free: 888-929-0322
: 13 © Fax: 310-353-7109
Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com

¥ VersaTables.com
%W 14105 Avalon Blvd.
Los Angeles, CA 90061




Wall Mount Computer'.Station
Step Attach mount bracket to CPU holder

Use (2) 20mm Furniture Bolts.

20mm Furniture
Bolt
Qty:2 .
O mounting holes
loosen and lower

Step Attach CPU Holder At the desired Height.

Use (1) Clamps and (2) 3/8 1/6 x 1" Socket Head Bolts.

Jantit : | & Local: 310-353-7100
=0 Toll Free: 888-929-0322
Fax: 310-353-7109
Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com

y
Qty:1

3816 x1"
Socket Head Bolt

@

Qty:2

Clamp Bushing

-

a2

.com
14105 Avalon Blvd.
Los Angeles, CA 90061



Wall Mouiht Computer Station

Step Attach Velcro Pads to both your CPU and CPU Holder.

<

Once in place, adjust Holder and tighten
Velero Pads.  Thumb Nuts to keep CPU secure.

. Velcro
Oty;z a

Width
com . : : | M Local: 310-353-7100
- D il _ iy =0 Toll Free: 888-929-0322
14105 Avalon Blvd. o o Fax: 310-353-7109

Los Angeles, CA 90061
9 Lifetime Warranty Quantity Discounts ~ Assembled in USA Fast Shipping Support@VersaTables.com





